INSTALLATION INSTRUCTIONS @ﬁ[

FOR ITEM 188860 CRETELLA 108 LT 6 TIER CHANDELIER CUSTOM LIGHTING

CAUTION: FAILURE TO INSTALL THIS FIXTURE PROPERLY MAY RESULT IN SERIOUS PERSONAL

INJURY OR DEATH AND PROPERTY DAMAGE. We recommend installation by a licensed electrician.

This product must be installed in accordance with applicable installation code(s), by a person familiar with the
construction and operation of the product and the hazards involved.*

Caution: Do not exceed maximum wattage noted on fixture. Use only recommended bulbs with fixture.

FIXTURE COMPONENTS
1.TIERA +B
2. TIER C (4 TIER)
3. 21" CONNECTION ARMS (QTY 4)
4. 96" WELDED CHAIN
5. CANOPY ASSEMBLY
6. JACK CHAIN
7. T"W x 5"H GLASS SHADES (QTY 108)

Caution: Be sure power is off at the main breaker box prior to installation.
Read all instructions in thetr entirety before beginning installation.

1. Carefully unpack all components and make
certain that everything is accounted for. FIG A

2. Remove Acorn Nuts from Canopy Assembly to MOUNTNING PLATE
release Mounting Plate.

3. Attach Mounting Plate to structure ensuring that
connection is suitable for minimum 650lbs and
that Line Wires remain accessible.

4. Connect desired length of Chain to Quick Link at
top of Tier A + B.

5. Unravel Electrical Wire, Copper Ground Wire,
and Safety Cable from top of Tier A + B and feed )
through Chain. It is recommended to run
Wires/Cable through every 3rd Link of Chain.
6. Slide Canopy Cover Plate over Wire, Cable, & i
Chain and allow it to rest face down on top of
Tier A+ B.

7. Make electrical connection from Fixture Lead
Wire to Structure Line Wire following all Local

WELDED LOOP
FOR

MOUNTING
HOLES

Codes and Procedures. TOP OF
8. Attach loose end of Safety Cable to Welded ARM

Loop on Mounting Plate ensuring that connection
is suitable for minimum 650Ibs.

9. Tier A + B is ready to be hung. Connect loose
end of Chain to Quick Link on center Loop of
Mounting Plate.

10. Slide Canopy Cover Plate up Chain and over
studs on Mounting Plate.

11. Attach Acorn Nuts to Studs and tighten until
top of Canopy is flush to ceiling.

12. At bottom of Tier A + B locate slots and
Connection Plates for 21" Connection Arms.

13. From Connection Plates, remove bottom-most
1/4-20 Acorn Nut, Hex Nut, & Bolt. Also remove
5/16 Acorn Nut and Bolt directly above. (FIG B)

CONNECTION

PAGE 1 of 2

MEYDA.COM | 1.800.222.4009 | SALES@MEYDA.COM



INSTALLATION INSTRUCTIONS
FOR ITEM 188860 CRETELLA 108 LT 6 TIER CHANDELIER

71

CusTOM

LIGHTING

CAUTION: FAILURE TO INSTALL THIS FIXTURE PROPERLY MAY RESULT IN SERIOUS PERSONAL

INJURY OR DEATH AND PROPERTY DAMAGE. We recommend installation by a licensed electrician.

This product must be installed in accordance with applicable installation code(s), by a person familiar with the
construction and operation of the product and the hazards involved.*
Caution: Do not exceed maximum wattage noted on fixture. Use only recommended bulbs with fixture.

Caution: Be sure power is off at the main breaker box prior to installation.

Read all instructions in their entirety before beginning installation.

14. Insert top of Connection Arms into slots at
Bottom of Tier A + B and secure with Bolts and Nuts.
Ensure that Arms taper in towards center of Fixture.
5/16 Bolt and Acorn Nuts through top hole and
1/4-20 Bolt, Hex Nuts & Acorn Nuts

in bottom hole. (FIG C)

15. Slot with Electrical Wire will need to have Wire
run through Arm during connection.

16. Once all Arms have been secured to bottom of
Tier A + B, connection to Tier C can be made.

17. Remove 5/16 Acorn Nuts and Bolts from Arm
Connection locations at top of Tier C.

18. Raise Tier C into location and into bottoms of
Connection Arms.

19. Ensure that Connection Arm with Electrical
Wire lines up with Molex Receptacle at top of

Tier C and make connection. Excess Wire should
be fed into frame of Tier C.

20. Secure with 5/16 Bolts and Acorn Nuts. Ensure
that extra attention is paid when feeding Bolt
through Arm with Electrical Cable as to not pinch
Cable. (FIGD & E)

21. Once Fixture has been successfully hung, free
Sockets by removing plastic wrap.

22. Unscrew Uno Rings and slide off PVC Spacers.
23. Slide Shade over Socket and secure with PVC
and then Uno Ring. Uno Ring should not be

over tightened.

24. Insert 108 12Watt LED Bulbs(not included) into
Sockets.

25. Hang Jack Chain between Shades by hooking
ends of Jack Chain to Loops at top of Shade Chain.
26. Power on and ENJOY!!

FIG C

TOP OF ARM DETAIL

HOLE FOR
5/16 BOLT
AND ACORN

HOLE FOR
1/4-20 BOLT,
HEX AND ACORN
NUTS

FIGD

HOLES FOR 5/16
BOLT AND
ACORN NUTS

BOTTOM OF ARM DETAIL

FIG E

BOTTOM OF ARM
CONNECTION

PAGE 2 of 2

MEYDA.COM 1.800.222.4009

| SALES@MEYDA.(



